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OVERVIEW

The X773, in discussing the reason why the 7awn says 2173 992, presents the
following assumption; that since this 975 of the 7wn is followed by another
993, therefore the first 995 is distinguished from the second 975 by using the
term 173 922. Both >"w1 and Mmoo understand the X123 to mean that the first
%95 is more encompassing' than the second 73, therefore it is appropriate to
call it a 9172 992. The &7nx first reinforces this assumption by stating that this
idea is found in Ny 2w 'on as well. However the X723 concludes by refuting
this assumption, for in MwWyn 'on, we find in the first 71wn two consecutive
instances of Y93, but there is no mention of 9173 9% in the first instance’.

nvoIn asks:
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It is astounding! Why should the maw» in mawyn 'on state 9173 %92 in the
first case since it is not greater’ than the second >%3. This question (of
mMooIN) requires concentration to be able to answer it".

SUMMARY

'01n does not understand why we do not maintain the original assumption
that 7173 992 is used when a ‘greater’ 995 precedes (or follows) a ‘lesser’ 992,
which explains why it is used by n°¥°2w1 n2w, and not by Wwyn, since there,
both 0°9%3 are equal.

THINKING IT OVER
Could we answer '01n question by assuming that in mawy» 'on the second 253
may be the greater one’?

" The actual text of the X713 may be read to mean that whenever there is a 995 followed by another 593, (the

second 973 saying; 1K TnX 993 TwY), then we state 2173 273 by the first 973 (perhaps to distinguish between

the 0°995). If we were to follow this literal interpretation of the X7n3, then '01n would have no question. See

a7 W,
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? For both 0°%9> there seem to be equally encompassing (as opposed to naw 'on) and equally stringent (as

opposed to N*y 2w 'on). See previous "2 7"7 '0IN.

4 See n7w 1A , "X '0In ,X"2um for their 217N,

> See w"vA.
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